



## 11.9 Representations of Functions as Power Series

$$\frac{1}{1-x} = 1 + x + x^2 + x^3 + \dots = \sum_{n=0}^{\infty} x^n \quad \underline{|x| < 1}$$

Example Express  $\frac{1}{1+x^2}$  as the sum of a power series and find the interval of convergence.

$$\begin{aligned} \frac{1}{1+x^2} &= \frac{1}{1-(-x^2)} = 1 - x^2 + (-x^2)^2 + (-x^2)^3 + \dots \\ &= 1 - x^2 + x^4 - x^6 + x^8 - \dots \\ &= \sum_{n=0}^{\infty} (-x^2)^n \quad \text{is convergent for } |x^2| < 1 \end{aligned}$$

So  $|x| < 1$  and the radius of convergence is 1.

If  $x=1 \Rightarrow -x^2 = -1$  so  $\sum (-x^2)^n = \sum (-1)^n$  DIV

If  $x=-1 \Rightarrow -x^2 = -1$  so  $\sum (-x^2)^n = \sum (-1)^n$  DIV

Example  $\frac{1}{x+2}$  Express the function as a power series.

$$\begin{aligned} \frac{1}{x+2} &= \frac{1}{2+x} = \frac{1}{2} \frac{1}{(1+\frac{x}{2})} = \frac{1}{2} \left( \frac{1}{1-(-\frac{x}{2})} \right) \\ &= \frac{1}{2} \left[ 1 - \frac{x}{2} + \frac{x^2}{4} - \frac{x^3}{8} + \dots \right] = \frac{1}{2} \sum_{n=0}^{\infty} \left(-\frac{x}{2}\right)^n \end{aligned}$$

Example  $\frac{x^3}{x+2} = x^3 \left( \frac{1}{x+2} \right) = x^3 \frac{1}{2} \sum_{n=0}^{\infty} \left(-\frac{x}{2}\right)^n$

$$= \frac{1}{2} \sum_{n=0}^{\infty} \left(-\frac{1}{2}\right)^n x^{n+3}$$

$\left(-\frac{x}{2}\right)^n = \left(-\frac{1}{2}\right)^n x^n$

$$f(x) = c_0 + c_1(x-a) + c_2(x-a)^2 + \dots = \sum_{n=0}^{\infty} c_n(x-a)^n$$

Theorem If  $\sum_{n=0}^{\infty} c_n(x-a)^n$  has radius of convergence  $R > 0$ .

then  $f(x) = c_0 + c_1(x-a) + c_2(x-a)^2 + \dots = \sum_{n=0}^{\infty} c_n(x-a)^n$

is differentiable (and continuous) on the interval

$(a-R, a+R)$  and

a)  $f'(x) = 0 + c_1 + 2c_2(x-a) + 3c_3(x-a)^2 + \dots = \sum_{n=1}^{\infty} n c_n(x-a)^{n-1}$

b)  $\int f(x) dx = C + c_0(x-a) + c_1 \frac{(x-a)^2}{2} + c_2 \frac{(x-a)^3}{3} + \dots$

$$= C + \sum_{n=0}^{\infty} \frac{c_n(x-a)^{n+1}}{n+1}$$

The radius of conv. for (a) and (b) are both  $R$ .